Answer on Question #57978 — Math —Trigonometry

Question

The legs of a right triangle measure 5 inches and 7 units. If 0 is the angle between the

5-inch leg and the hypotenuse, cos 6 =
A:0.71
B: 0.07
C:0.58
D:0.81

Solution

Hypotenuse is V52 + 72 = v/25 + 49 = /74,

By the definition,

5 5
cosG—\/52+_72— N 0.581.

Answer: C: 0.58.
Question

If cos 6 = -2/3, which of the following are possible?

Choose all correct answers.
Sind = -V5/3 and tan® = V5/2

sin® = v5/3 and tan® = V5/2
cscB = 3/v/5 and tan® = -V5/2

csch = -3/2 and tan® = V5/2
Solution

If cos(6) < 0, then % +2mk <0 < 3;” + 2mk, k is integer.
If §+ 2rk < 6 < m + 2mk, k is integer, then sin(6) > 0,

sin(6) = /1 — cos2(0) = ’1—(—%)2= ’1—%=\/§=§,
V5

_sin(® _ 3 _ 5

tan(@)——cos(e)— _g— "
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If m+2nk <0< %ﬂ + 27k, k is integer, then sin(8) < 0,



sin(f) = —\/1 — cosz(e) = /1 — —_ \/: \/_

sin(6) 3
tan(0) = 5(6) j = 7,
3
1 3
) = fm == E
Answer:

Sin® = -v5/3 and tan® = V5/2;
cscB = 3/v/5 and tan® = -V5/2.
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